9. Read the answer from the following finished tableau (based on #4). Give the location of
the maximum, the maximum itself, and the resulting surpluses.

Use the word problem in #4 to give a plain English version of the answer for your supervisor
at the Soup Parlour. Be sure to include the recommended decision, its important effect (the

“bottom line:;)_‘ and some information on the slack variables.
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Plain English recommendation:
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Higher level evaluation: Does the Soup Parlour need more supplies or more
marketing right now?
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